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PRACTICE TEST ONE

Part I Listening Comprchension (20 minutes)

Section A

Directions: In this section, you will hear 10 short conver-
sations. At the end of each conversation, a question will
be asked about what was said. The conversation will be
spoken twice, but the question will be spoken only once.
After each question there will be a pause. During the
pause, you must read the four choices marked A), B), C)
and D), and decide which is the best answer, Then black-
en the corresponding letter on the Answer Sheet with your

pencil.

Example:
You will hear: .
You will read: A) Some trouble they have had.
B) An accident.
C) A pleasant trip.
D) A comfortable chair.
Sample Answer: A) B) @) D)
In the conveisation the woman said she enjoyed air "
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travel. Therefore “A pleasant trip” is the correct answer.
You should choose C) and blacken the corresponding let-
ter on the Arswer Sheet with your pencil.

1.

A) He Tan’t get to the airport on time.

B) He wants the woman to type a letter for him,
C) He could not take his luggage down,

D) He feels uncomfortable.

A) She accepts the invitation.

B) She won’t go with Bob. ‘

C) She hasn’t decided whether to go with Bob or not.
D) She feels quite hungry.

A) At noon. B) Soon.

C) This evening. D) This afternoon.

A) Customer and driver. ‘

B) Customer and assistant.

C) Customer and manager.

D) Customer and waiter.

A) It probably takes place in a classroom.

B) The guest wants to have a meal.

C) The man is waitiné for two guests.

D) There are two guests to be served.

A) He will have his meal in his room.

B) He can’t have his meal with the woman.

C) He will send his meal to his friend.

D) He needs a doctor because he doesn’t feel well.
A) The man has gobd relationship with David.
B) The woman has no relationship with David.
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C) The man shouldn’t ask the question.

D) The woman likes David.
8. A) To borrow a book on dancing.
B) To find a club.
C) to buy a stamp.
D) To entertain herself.
9. A) sl0. B) $5. C) s8. D) $12.
10. A) On the next street.

B) On the same street.

C) On the right street.

D) On the ieft street.
Section B ’ ,
Directions: In this section, you will hear 3 short passages.
At the end of each passage, you will hear some questions.
The passage will be spoken twice and the questions will be
spoken only once. After you hear a question, you must
choose the One best answer from the four choices marked
A), B), C) and D). Then blacken the corresponding let-
ter on the Answer Sheet with a pencil. -
Passage 1 _

Questions 11 to 13 are based on the passage you have
just heard. -
11. A) It was named after an Italian navigator and mer-

chant. . ' ‘
B) It was an English name taken from the native
language. '
C) It was named from a place at the mouth of the
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12.

13.

Amazon. _

D) It got its name from a traditional Asian family.

A) The Plate River was discovered when he reached
Brazil.

B) Amerigo’s newly discovered lands were evidenced
by a scientist.

C) He was convinced by other navigators.

D) Amerigo reached Asia on his next voyage.

A) 1504,  B) 1500.  C) 1512. D) 1507.

Passage 2

Questions 14 to 17 are based on the passage you have

. just heard.

14.

15.

16.

A) One of his wheels suddenly went out of order.
B) He was too tired to drive any further.

C) His car suddenly ran out of gasoline,

D) One of his wheels was missing.

A) It looked the same as his car.

B) It was a ncw car.

C) Tt was nice-looking,

D) It looked like a Japanese car. ,

A) He was pleased to have her car stopped.

B) He felt very disappointed at sceing her.

C) He was surprised at the woman’s appearance.

- D) He thought she might be a policewoman.

17.

A) She offered her spare wheel and fitted it for Jones

~.
~

at once,
B} She offered to exchange a wheel with Jones.



C) She taught Jones how to fit his wheel in the right

way.
D) She offered to repair Jones’ wheel.
Parage 3 .
Questions 18 to 20 are based on the passage you have
just heard. *
18. A) About 10 million. B) About 46 million.
C) About 23 million. D) About 123 million.

19. A) More and more people work in the cities.
B) Remarkable growth of movie theaters.
C) People working in cities can enjoy country life.
D) Various kinds of hotels have come into being.
20. 'A) Drivers and tourists can watch TV in their cars.
B) There are movie theaters along highways, ’
C) Motels have grown rapidly, |
D) The use of h:ghways has created the demand for
roadside businesses.

Part 11 Reading Comprehension (35 minutes)

Directions: There are 4 reading passages in this part. Each
passage is followed by some questions or unfinished state-
ments. Each question or-unfinished statement is given four
suggested answers A), B), C) and D).- You should choose
the ONE best answer and blacken the corresponding letter
~on the Answer Sheet with your pencil.
‘Questions 21 to 25 are based on the following passage.
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Anybody can get a'gun. Ownership of handguns has
become so widespread that the gun is no longer merely the
instrument of crime; it is'now a cause of serious crime. . Of
the eleven Boston police officers killed since 1962, seven
were killed with handguns; of the seventeen wounded by
guns since 1962, sixteen were shot with handguns.

Police officers, of course, are not the only people who
die. Ten thousand other Americans are dead because
of the misuse of our right to hold arms. People who argue
for guns are fond of saying that guns don’t kill, people do.
But guns do kill.

Half of the people who kill themselves do so with hand-
guns. Fifty-four percent of the murders in 1972 were car-
" ried out with handguns. Killing with handguns simply -
‘is a good deal easier than killing with other weapons.

Rifles and shotguns are difficult to hide. People can
run away from attackers with knives. People do die'each
year by drowning, beating and strangulation (Hi%%). But
attacks with handguns are five times morc likely to kill.
21. Which of the following may well serve as the title of

- the passage ?
.-A) How To Use Handguns
- B) Handguns Become Popular

C) Limiting Harndguns

D) More People Are Killed by Handguns
22. According to the passage, since 1962

Boston police officers were either killed or wounded,
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A) twenty-three B) twenty-four
C) twenty-seven D) twenty eight |
23 According to the author, if , ten thousand

Americans would have been living now

~ A) they had not held arms

B) the right had been rcasonably used

C) their arms had been propcrly covered up

DY'the carrying of weapons had not been permitted
24 Handguns are more likely to kill because they are

A) difficult to hide B) of different kinds

C) too wide spread D) ecasy to use
9. Tt can be learned from the passage that the writer is

A) in favour of handguns

B) trying to be impartial

C) against the ownership of handguns

D) criticizing the police ,

Questions 26 to 30 are based on the following passage.

Jefferson was born in Virginia, the son of a planter of
Welsh descent (J5{%). He was a successful lawyer before
becoming involved in politics. When the quarrel over
taxes (B) between Britain and her American Colonies
broke-out, Jefferson became a leader of the revolutionary
group in Virginia. As the crisis grew, the Virginians sent Jef-
ferson to Philadelphia to attend the Continental Congress,
which was determined to win self-government. -



In the arguments, Jefferson won the respect of the
Congress. He was made chairman of a committee of five
members whose duty was to diay up a document declaring
the colonists’ intention to break away from Britain. Tlis
document, known as the Declaration of Independence, vas
written by Jefferson himself with only small changes >y
others. On 4 July, 1776, Congress decided to accept te
Declaration. k

Jefferson also helped to draw up a constitution (#})
for Virginia, and introduced various reforms. He was tw:e
governor of Virginia, and founded the University of V-
ginia. He was called upon to defend his state against te
attacks of the British army in the last years of the War f

Independence.
26. Jefferson’s father used to work ___
~A) on a farm B) in an office
C) as a lawyer D)in a plént
27. _ eventually led to the War of Indepen-

dence.

A) The arguments in the Congress
B)Heavy taxes from Britain

C) The attacks of the British Army

D) Various reforms introduced by Jefferson

28. It was in that the Continental Congress was
held.
A) Virginia B} Philadelphia
C) American Colonies D) Britain
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20. _ __ is composed of five members.
A) The self-government
B) The group to draw up the constitution for Virginia
C) The group to make the Declaration of lndepen-
=" dence
D) The revolutionary group in Virginia
30 From the passage we Icarn that Jefferson was not only
a talented scholar but also -
A) an outstanding statesman
B) a representative of Philadelphia
C) a respectable reformer
D) a well- known writer
Questions 31 to 35 are based on the followmg passage.
X-rays were first discoverd by a German scientist,
Nilhelm Konrad Rontgen, in 1895, almost by accident.
~ He and several other scientists were experimenting with
passing electric currents through_gertain gases in a special
glass tube from which the air had been removed. One
day Rontgen noticed that, even when the tube was covered
with black paper, some strange kind of radiation was coming
throﬁgh and making a screen nearby glow. Rontgen could
not sec anything coming out of the tube, but then he dis-
covered that if he put the screen in the next room on the
other sidec of a closed door, the rays still scemed to affect it,
The glowing screen showed that the rays could pass not
only through black paper but also through wood.
The next thing he found out was that if he put his



hand between the rays and a photographic plate, the ravs
would print a shadow of the bony framework of his hand
on the plate. In fact, the rays could pass as easily througl
the fleshy part of his hand as through the black pap:r,
but hardly at all through the bone. So Rontgen male
the first X-ray picture of a hand, showing just how he
bones in the hand fit together.

31. What puzzled Rontgen one day during his experimat
was

A) some passing electric currents
B) the black-paper-covered tube
C) some radiation coming through the covered tule
D) the glowing screen nearby v
32. The scréen didn’t stop glowing even when
A) the black paper was removed from the tube
B) it was moved to the other side of the room
C) the door was closed ‘
D) it was moved to the ncxt room
33. Rontgen put his hand between the rays and a pho-
tographic plate so that _
A) he could find out more about the rays
B) he could make an X-ray photo of it
C) he might print a shadow of the bony framework
D) he might be able to make use of the rays for photo-
graphy
34. The rays proved to be incapable of passing through
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A) wood | B) black paper

C) flesh D) bone .

35. From the passage, we know X-rays are .
A) white B) invisible
C) changeable D) bright

Questions 36 to 40 are based on the following passage.

In October 1982, Marcia Anderson, a 29-ycar-old
Connecticut woman, came down with what she thought
was a cold. But the illness grew worse. On November
4, she was sent unconscious (9&1&9&]%) to hospital. Dur-
ing the next two days, while doctors gave tests to her, she
remained in a state of unconsciousness with a fever of 105
degrees. ' ‘

Joseph Klimck, the doctor in charge, told her hushand
that she would likely die. Marcia appeared to have got
herpes encephalitis (JASMiJ¢), a relatively rare disease.
Klimck gave her a medicine called ara-A. It was his best,
and only, shot at fighting the cnccphalitis,lan illness of the
brain that causes lifelong damage. |

The next morning, Marcia ¢just woke up,” in Klimck’s
words. ““Nurses and doctors came and stared at me,”’ she
recalls. ‘“They couldn’t believe I was alive.”> More than .
three years later, she apparently was living as a normal
person.

Ara-A was among the first of a handful of medicines
to break a well-known saying: Once a patient is infected
(B&Yy), a doctor can do little. What Klimck saw in Mar-.

"‘-110



